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s fediop: R
2,111 x 10 = 3,747 x 100 =

2,78 x 10 = 6,703 x 100 =

3,63 %100 = 2,375 x 10 =

1,193 x 10 = 5,881 x 100 =

3,588 x 1000 = 1,499 x 100 =

9,873 x 100 = 3,83 x 100 =

7,368 x 1000 = 1,729 x 1000 =

9,482 x 10 = 8,443 x 100 =

2,936 x 1000 = 7,614 x 10 =

5,109 x 10 = 8,172 x 10 =
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2,111 x 10=21.11
2,78 x 10 =27.8
3,63 x 100 = 363
1,193 x 10=11.93
3,588 x 1000 = 3588
9,873 x 100 = 987.3
7,368 x 1000 = 7368
9,482 x 10 = 94.82

2,936 x 1000 = 2936

5,109 x 10 = 51.09

feiep:

3,747 x 100 = 374.7

6,703 x 100 = 670.3

2,375 x10=23.75

5,881 x 100 = 588.1

1,499 x 100 = 149.9

3,83 x 100 = 383

1,729 x 1000 = 1729

8,443 x 100 = 844.3

7,614 x 10 =76.14

8,172 x 10 =81.72
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